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 1שאלה מספר 
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x2
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16
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Smax .ד = 24 

 

 2אלה מספר ש 

 הסבר  .א

K   (1) . ב = 1 

(2   )l1: x = (0,21, −16) + t(−1,1,1) 

(3   )10.89° 

, B(0,5,0)   (1) . ג A(0, −11,0) , P(0,21, −16) 

(2   )SAPB = 128 

 

 3שאלה מספר 
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 ה הוכח  (3)
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 4שאלה מספר 

x  (  1) .א ≠ 0  , x ≠ ln4 

(2   )y = 2  , y = 0  , x = ln4  , x = 0 

xתחומי עלייה:  (  3) > 0   או   0 < x < ln (
8

5
) 

x  : הירידתחומי  (  3) > ln4    או  ln (
8

5
) < x < ln4 

, ln2.5) . ב −
50

9
) 

∶ 2,6,3 . ג 𝑔(𝑥) , 1,5,4 ∶ 𝑓(𝑥) 

 חיובי   – II  ילי,של – I .ד

 1.504 .ה

 

 5שאלה מספר 

x  (  1) .א ≠ 0 

(2   )(√e, 0)  , (−√e, 0) 

 הוכחה (  3)

min   (1) . ב (
1

√e
, −

8

√e
)  , max (−

1

√e
,

8

√e
) 

 לא (   2)

(3   ) 

 

 

 

 

 

x(   1) . ג ≠ −√e x ≠ 0  , x ≠ √e  ,   

(2   )y = 0  , x = 0  , x = √e  , x = −√e 

(3   ) 
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 דות נקו  6  (4)

G(x) .ד =
1

8
ln |ln(x2) − 1| + c 

mailto:info@aviramfeldman.co.il
http://www.aviramfeldman.co.il/

